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1 100kN/mM#Z#BZ % -l -~ = -|3mEBRB| - ~ = = -| 100kN/M%E# %% = -~ = -|3mEBZD -~ = = =
Zhn st 1.001 0.00 ~ 4.63 57.73| #hii4 | 000 ~ 463| 1.86 9.41 Zhn st 1.00] 5.00 ~ 5.00 57.73] #h st | 500 ~ 500| 1.86 9.41
5 100kN/mM#Z#BZ % -l -~ = -|3mEBRB| - ~ = = -| 100kN/mM%E# %% = -~ = -|3mEEZD -~ = = =
Zhn st 1.001 0.00 ~ 5.82 72.86| #hist | 000 ~ 0.00| 1.65 8.32 Zhn st 1.00] 500 ~ 6.70 72.86] #h st | 500 ~ 6.70[ 1.65 8.32
3 100kN/mM#Z#BZ % -l -~ = -|3mEBZB| - ~ = = -| 100kN/mM%E# %% = -~ = -|3mEBZD -~ = = =
Zhn st 1.00{1 0.00 ~ 5.20 64.88| Znlis | 000 ~ 0.00| 1.65 8.32 Zhn st 1.00 500 ~ 5.70 64.88] #hist | 500 ~ 570| 1.65 8.32
4 100kN/mM#Z#BZ % -l -~ = -|3mEBRB| - ~ = = -| 100kN/mM%E# %% = -~ = -|3mEBZD -~ = = =
Zhn st 1.0010.00 ~ 6.94 87.92| #h 4t | 0.00 ~ 0.00f 1.73 8.73 Zhn st 1.00] 500 ~ 8.60 87.92| #hui4st | 500 ~ 860| 1.73 8.73
s 100kN/mM%#B % % 1.00/ 000 ~ 0.76 111.32|3m%E#BZB| - ~ = = -| 100kN/m%#B %% 1.00[ 10.61 ~ 1291 111.32|3m%#BZ 2 -~ = = =
Fh st 1.00/0.76 ~ 854 100.00| Zhli4t |0.00 ~ 854 2.13 10.75 Fh st 1.00| 500 ~ 10.61 100.00| Zh st | 500 ~ 1291 2.13 10.75
6 100kN/mM%#B % % 1.00/0.00 ~ 0.65 109.68|3m%E#EZB| - ~ = = -| 100kN/m%#B %% 1.00| 11.89 ~ 13.94 109.68|3m%E#EZ % -~ = = =
ZFh st 1.00/0.65 ~ 844 100.00| Zhlist | 000 ~ 8.44| 247 12.46 Fh st 1.00] 500 ~ 11.89 100.00] Zh kst | 500 ~ 13.94] 247 12.46
; 100kN/mM%#B % % 1.00/ 000 ~ 0.17 102.50|3m%E#BZB| - ~ = = -| 100kN/m%#8 %% 1.00[ 10.90 ~ 11.40 102.50|3m%#BZ % -~ = = =
ZFh st 1.00/0.17 ~ 7.96 100.00| Zh kst [ 000 ~ 7.96] 2.06 10.43 Fh st 1.00] 5.00 ~ 10.90 100.00] Zh kst | 500 ~ 11.40| 2.06 10.43
g 100kN/mM%#B % % 1.00{ 000 ~ 0.21 103.06|3m%E#BZB| - ~ = = -| 100kN/m%#B %% 1.00| 1054 ~ 11.10 103.06|3m%i#BZ 2 -~ = = =
ZFh st 1.00/ 021 ~ 799 100.00| Zhlist 000 ~ 799 2.16 10.93 Fh st 1.00] 500 ~ 10.54 100.00f Zhiust | 500 ~ 11.10] 2.16 10.93
9 100kN/mM#Z#BZ % -l -~ = -|3mEBRB| - ~ = = -| 100kN/mM%E# %% = -~ = -|3mEEZD -~ = = =
ZFh st 1.00/ 000 ~ 7.77 99.77| #hilst (000 ~ 7.77| 2.16 10.93 Fh st 1.00] 5.00 ~ 10.50 99.77| #hlList | 500 ~ 1050 2.16 10.93
10 100kN/mM#Z#BZ % -l -~ = -|3mEBZB| - ~ = = -| 100kN/mM%E# %% = -~ = -|3mEEZD -~ = = =
ZFh st 1.00/ 000 ~ 472 58.84| #hilst [000 ~ 472| 181 9.14 Fh st 1.00] 500 ~ 500 58.84| #hbLlst | 500 ~ 500[ 1.81 9.14
100kN/mM#Z#BZ % ~ ImEHEAD ~ 100kN/mM#Z#BZ % ~ ImEHEAD ~
Zhn st ~ Zh s ~ Zhn st ~ Zh s ~
100kN/mM#Z#BZ % ~ ImEHEAD ~ 100kN/mM#Z#BZ % ~ ImEHEAD ~
Zhn st ~ Zh s ~ Zn st ~ Zh s ~
100kN/mM#Z#BZ % ~ ImEHEAD ~ 100kN/mM#Z#BZ % ~ ImEHEAD ~
Zhnist ~ Zh s ~ Zhn st ~ Zh s ~
100kN/mM#Z#BZ % ~ ImEHEAD ~ 100kN/mM#E#BZ % ~ ImEHEAD ~
Zhn st ~ Zh s ~ Zhn st ~ Zh s ~
100kN/mM#Z#BZ % ~ ImEHEAD ~ 100kN/mM#E#BZ % ~ ImEHEZD ~
st ~ Zh st ~ ZhLst ~ Zh st ~
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